
2x 5x70
2x 5x60 (only Compact-top)

Höhenverstellschraube
Height adjusting screw

1x 22x6,3
1x 5x16 (only Compact-top)

3x 5x70
3x 5x60 (only Compact-top)

1x 8x16

➊

➊

➋

➋

➌

wiesner hager
concept

veron
Montageanleitung /  
Assembly Instructions

www.wiesner-hager.com

Antistatik-Ausführung optional
Antistatic version optional



5x Euroschraube / Euro screw 6,3x19
5x Linsensenkschraube / Lentiform Countersunk screw

KS M6/12 DIN 966 (only Compact-top)

2x Euroschraube / Euro screw 6,3x19
2x Linsensenkschraube / Lentiform Countersunk screw KS M6/12 DIN 966 (only Compact-top)

4x EJOT PT WN 1453VZ
4x Linsensenkschraube / Lentiform Countersunk screw KS M6/20 DIN 966 (only Compact-top)

4x ISK Senkschraube / Countersunk similar to DIN 7991 M8 x 20

➌

➌

➍

➍

➋

➋

➊

➊

PC-Halter

Kabelwanne

Knieblende

3. Ebene

3x EJOT PT K70/20WN 1451
3x Linsensenkschraube / Lentiform Countersunk screw KS M5/12 DIN 966 

(only Compact-top)

8x EJOT PT K70/20
8x Flachkopfschraube / Flat-headed screw ISK M6x12 (only Compact-top)

Verketter
4x SPAX Pan-Head PZD 5/20 Zink
4x Senkschraube / Countersunk screw ISK M5/12 DIN 7991 (only Compact-top)

Ordnerschale
File rack

A4 Papierschale
Filing tray DIN A4

Rändelschraube M6x17
Knurled screw M6x17

TFT-Halter ohne Schwenkarm
Flatscreen monitor holder
without swivel arm

TFT-Halter mit Schwenkarm
Flatscreen monitor holder with swivel arm

Utensilienschale
Utility tray

3. Ebene Accessoires / Accessory panel

wiesner hager
concept

veron
Montageanleitung /  
Assembly Instructions

www.wiesner-hager.com


